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(Duration: 2 Hours)        (Marks: 60) 

N.B. -   1) All questions are compulsory 

2) Figures to the right indicate full marks 

3) Draw neat diagrams wherever necessary. 

Q.1 Answer the following questions :- (10) 

 a) Discuss the theory of revealed preference. 

OR 

b) Explain the utility maximisation problem. 

 

Q. 2 Answer the following questions:- 

a) What is production function? Explain the production function under varying 

proportions. (10) 

OR 

b) Explain the long run cost curve. 

 

Q. 3 Answer the following questions: -  (10) 

a) What is market demand curve? Explain with diagram. 

OR 

b) Discuss Marshallian approach of stability of equilibrium. 

 

Q. 4 Answer the following questions: -  (10) 

a) Explain the Walara's general equilibrium in a competitive economy. 

OR 

b) Explain the causes of market failure. 

 

Q.5 A) Write short notes :- (20) 

a) Indirect utility function  

b) Constant elasticity of substitution production function. 

c) Market supply curve  

d) The first fundamental theorem of welfare economics  

OR 
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Q. 5 B) Choose the correct answer from the given multiple choice.  

i)   ---------------- is branch which deals with the various stages a consumer goes 

through before purchasing products or services for his and use. 

a) Consumer's behaviour 

b) Consumer's interest 

c) Consumer's attitude 

d) Consumer's perception 

 ii)  A type of ---------- consumer decision rule in which a consumer mades a product 

choice on the basis of his previously established experience and rating of the 

product / brand rather than on specific attributes. 

a) Compensatory decision 

b) Conjunctive decision 

c) Disjunctive decision 

d) Affect referral decision rule 

iii)  Price line shifted to the left side or right side due to change in --------- 

a) Consumer's income 

b) Prices of commodities  

c) Investment 

d) Saving  

 iv)  The slope of indifference curve measure the ---------- 

a) Slope of budget line 

b) Total utility of a good 

c) Space on an indifference map 

d)  Marginal rate of substitution 

 v)  The expenditure function shows the ----------- necessary to achieve a given 

utility level for a particular set of prices. 

a) Maximum expenditure  

b) Minimum expenditure 

c) No expenditure 

d) No limit expenditure 

 vi)  In law of variable proportions initially production ------------ 

a) Increases at a diminishing rate 

b) Remains constant 

c) Increases at an increasing rate  

d) Increases at an constant rate 
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vii)  The types of short run production is called -------------. 

a) Law of returns to scale 

b) Law of variable proportion 

c) Cobb-Doughals production function 

d) Constant return to scale 

viii) In the long run all factors of production are ------------ 

a) Fixed  

b) Variable  

c) Fixed and variable 

d) Homogeneous 

ix)  The increase in total cost to produce one more unit in production is called ------- 

a) Average cost  

b) Total cost 

c) Marginal cost 

d) Total variable cost 

x)  Which of the following is called an envelop curve? 

a) AVC 

b) SFC 

c) SAC 

d) LAC 

xi) The market supply curve slope is ---------- 

a) Positive 

b) Negative 

c) Parallel to X axis   

d) Parallel to Y axis  

xii)  The price at which the demand for goods and the supply of goods equals to the 

price is called the --------- 

a) General 

b) Reserve  

c) Long run 

d) Equilibrium  

xiii)     The demand curve for the firm under perfect competition is --------- 

a) Parallel to X axis   

b) Parallel to Y axis   

c) Positive slope 

d) Negative slope 
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 xiv) In the short term average cost of the firm is less than the short term average 

revenue then the short term yields a -------- profit. 

a) Super normal 

b) Normal 

c) Less than normal  

d) Net 

xv) The quantity adjustment approach was proposed by ------------ 

a) Stiglar  

b) Marshal 

c) Arrow 

d) Wallara 

 xvi)  The first attempt of general equilibrium analysis was made by French Economist 

------------------- 

a) Leon Wallara 

b) Adam Smith  

c) Alfred Marshall 

d) Sent siman 

xvii)   In the Pareto's analysis, a ------------- line is obtained from the touch point in 

ISO quant curve of two commodities. 

a) Contract 

b) Price 

c) Iso Cost 

d) Straight 

 xviii)  ------------ used a ordinal measure of utility when designing welfare economics. 

a) Pigou 

b) Pareto 

c) Hicks 

d) Kaldor  

 xix) In the case of -------------- it is impossible to measure social benefits and loss. 

a) Public goods  

b) Private goods 

c) Geffen goods  

d) Capital goods 

 xx)  The effect that production and consumption have no society is called ------ 

a) General equilibrium  

b) Exchange efficiency  

c) Optimum resource allocation  

d) Externalities  

************ 
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 (मराठी रुपाांतर) 

सचूना :- 1) सर्व प्रश्न सोडवर्णे अवनर्ार्व आह.े  

2) उजर्ीकडील अांक पूणव गुण दर्ववर्तात. 

3) आर्श्र्क तेथे सुबक आकृत्र्ा काढा. 

प्र. १  खालील प्रश्न सोडर्ा.        (10)  

 अ) प्रकट पसांती वसद्ाांताची चचाव करा. 

ककर्ा 

ब) उपर्ोवगता महत्तमीकरणाची समस्र्ा स्पष्ट करा.  

प्र. २  खालील प्रश्न सोडर्ा.        (10)  

अ) उत्पादन फलन म्हणज ेकार्? बदलत्र्ा प्रमाणातील उत्पादन फलन स्पष्ट करा. 

ककर्ा 

ब) दीर्वकालीन खचव र्क्र स्पष्ट करा. 

प्र. ३  खालील प्रश्न सोडर्ा.        (10)  

अ) बाजार मागणी र्क्र म्हणजे कार्? आकृतीच्र्ा सहाय्र्ाने स्पष्ट करा.  

ककर्ा 

ब) समतोलाची वस्थरता र्ा वर्षर्ीचा मार्वलचा दषृ्टीकोन स्पष्ट करा. 

प्र. ४  खालील प्रश्न सोडर्ा.        (10)  

 अ) स्पर्ावत्मक अथवव्यर्स्थेतील र्ॉलराचा सामान्र् (सर्वसार्ारण) समतोल  स्पष्ट करा.  

ककर्ा 

ब) बाजार अपर्र्ाची कारणे स्पष्ट करा. 

प्र. ५  अ) टटपा वलहा          (20) 

 अ) अप्रत्र्क्ष  उत्पादन फलन 

ब) वस्थर प्रवतस्थापन लर्वचकता उत्पादन फलन 

ब) बाजार पुरर्ठा र्क्र 

ड) कल्र्ाणकारी अथवर्ास्त्राचे पवहले प्राथवमक प्रमेर् 

ककर्ा 
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प्र. 5 ब) बहुपर्ावर्ातनू र्ोग्र् उत्तर वनर्डा.  

१)  --------------- ही एक र्ाखा आह े जी ग्राहक त्र्ाांच्र्ा अांवतम र्ापरासाठी उत्पादने ककर्ा सेर्ा 

खरेदी करण्र्ापूर्ी वर्वर्र् टप्पप्पर्ातून जात.े 

 अ) उपभोक्तत्र्ाची र्ागणुक 

 ब) उपभोक्तत्र्ाची आर्ड 

 क) उपभोक्तत्र्ाचा दषृ्टीकोन 

 ड) उपभोक्तत्र्ाचा समज 

२)  एक प्रकारचा ------------ वनणवर् वनर्म ज्र्ामध्र्े ग्राहक वर्वर्ष्ट गुणर्मावऐर्जी त्र्ाच्र्ा पूर्ी 

स्थावपत अनुभर् आवण उत्पादन / ब्रँडच्र्ा रेटींगच्र्ा आर्ारे उत्पन्न वनर्डतो. 

 अ) नुकसान भरपाई  

 ब) सांर्ुक्त  

 क) वर्भक्त  

 ड) सांदभव प्रभावर्त  

३)  ............ बदलाांमुळे ककमत रेषा डार्ीकड ेककर्ा उजर्ीकड ेसरकतो.  

 अ) उपभोक्तत्र्ाचे उत्पन्न   

 ब) र्स्तूांच्र्ा ककमती   

 क) गुांतर्णूक   

 ड) बचत   

४) समर्ृत्ती र्क्राचा उतार ------------ मोजतो. 

 अ) अांदाजपत्रक रेषेचा उतार 

 ब)  र्स्तूची एकूण उपर्ोवगता 

 क) समर्ृत्ती नकार्ातील जागा 

 ड) सीमाांत पर्ावर्ता दर 

५) खचव फलन ककमतीच्र्ा पटरवर्ष्ट सांचासाठी ददलेली उपर्ुक्तता पातळी प्राप्त करण्र्ासाठी आर्श्र्क 

-------- दर्ववर्ते. 

 अ) महत्तम खचव 

 ब) दकमान खचव 

 क) खचव नाही 

 ड) खचावची मर्ावदा नाही 

६) बदलत्र्ा प्रमाणाच्र्ा वसद्ाांतात सुरुर्ातीला उत्पादन -------------- 

 अ) र्टत्र्ा दराने र्ाढते  

 ब) वस्थर राहत े

 क) र्ाढत्र्ा दरान ेर्ाढते 

 ड) वस्थर दरान ेर्ाढते 
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७) अल्पकालीन उत्पादन फलनाच्र्ा प्रकाराला ----------म्हणतात. 

 अ) पटरणाम प्रत्र्र् वनर्म  

 ब) बदलत्र्ा प्रमाणाचा वनर्म 

 क) कॉब डग्लस उत्पादन फलन 

 ड) वस्थर उत्पादन प्रमाण फलन 

८) दीर्वकालीन उत्पादन फलनात उत्पादनाचे सर्व र्टक --------- असतात. 

 अ) वस्थर   

 ब) बदलते   

 क) वस्थर र् बदलते 

 ड) एकवजनसी 

९) उत्पादनामध्र्े एक अवर्क नग तर्ार करण्र्ासाठी एकूण खचावत झालेली र्ाढ म्हणज े------- होर्. 

 अ) सरासरी खचव 

 ब) एकूण खचव 

 क) सीमाांत खचव 

 ड) एकुण बदलता अखचव 

१०) खालीलपैकी कोणत्र्ा र्क्राला Envelop curve आर्रण र्क्र असे म्हणतात?  

 अ) AVC 

 ब) SFC 

 क) SAC 

 ड) LAC 

११) बाजार पुरर्ठा र्क्राचा आकार ------------ असतो. 

 अ) र्नात्मक 

 ब) ऋणात्मक 

 क) क्ष अक्षाला समाांतर 

 ड) र् अक्षाला समाांतर  

१२) ज्र्ा ककमतीला र्स्तूची मागणी र् र्स्तूचा पुरर्ठा समान होतो त्र्ा ककमतीला --------- ककमत 

असे म्हणतात. 

 अ) सामान्र् 

 ब) राखीर् 

 क) दीर्वकालीन 

 ड) समतोल   
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१३) पूणव स्पर्ेतील उद्योगसांस्थेचा मागणीर्क्र -------- असतो. 

 अ) क्ष अक्षाला समाांतर 

 ब) र् अक्षाला समाांतर 

 क) र्नात्मक उताराचा 

 ड) ऋणात्मक उताराचा 

१४) जर उद्योग सांस्थेचा अल्पकालीन सरासरी खचव हा अल्पकालीन सरासरी प्राप्तीपेक्षा कमी असेल तर 

अल्पकाळातील उद्योगसांस्थलेा ------------ नफा वमळतो. 

 अ) अवतरीक्त 

 ब) र्ाजर्ी 

 क) र्ाजर्ीपेक्षा कमी 

 ड) वनव्र्ळ 

१५)  पटरणाम समार्ोजन दषृ्टीकोन ---------------- र्ाांनी माांडला. 

 अ) स्टीगलर 

 ब) मार्वल 

 क) अॅरो  

 ड) र्ॉलरा 

१६) सामान्र् (सार्ववत्रक) समतोल वर्शे्लषणाचा प्रर्त्न सर्वप्रथम फ्रें च अथवर्ास्त्रज्ञ ------ र्ान ेकेला.  

 अ) वलऑन र्ॉलरा 

 ब) ऍडम वस्मथ 

 क) अल्फे्रड मार्वल 

 ड) सेंट सार्मन 

१७) पॅरेटोच्र्ा वर्र्ेचनात दोन र्स्तूांच्र्ा समउत्पादन र्क्राच्र्ा स्पर्व बबदतूून ---- रेषा वमळते 

 अ) करार 

 ब) ककमत  

 क) समखचव 

 ड) सरळ 

१८)  ------------ र्ाांनी कल्र्ाणकारी अथवर्ास्त्राची रचना करताना उपर्ोवगतेच्र्ा क्रमर्ाचक मापन 

पद्तीचा र्ापर केला. 

 अ) पीगू 

 ब) पॅरेटो  

 क) वहक्तस 

 ड) कॅल्डोर 
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१९) ------------ र्स्तूांच्र्ा बाबतीत सामावजक फार्दा, तोटा इत्र्ादीचे मोजमाप अर्क्तर् होत.े 

 अ) सार्वजवनक र्स्तू 

 ब) खाजगी र्स्तू 

 क) वगफेन र्स्तू 

 ड) भाांडर्ली र्स्तू 

 

२०) उत्पादन आवण उपभोगामुळे समाजार्र होणा-र्ा पटरणामाांना ---------- असे म्हणतात. 

 अ) सार्ववत्रक समतोल 

 ब) वर्वनमर्ातील महत्तमता 

 क) पर्ावप्त र्टक वर्तरण 

 ड) बाह्यता 

 

 

 

 

***************** 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Paper / Subject Code: 73571 / Economics: Microeconimics -I (R-2021-22)

9DCD2EB2FCCD7188F83CE2324492AC45

m
unote

s.i
n


